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11.

STBIAR Y3 q—A YA’ YAITBRR &
$rd &1 9uia N TAT D PoldeX q&dl
&1 99 AT DX |

With the help of circuit diagram explain the working

of monostable multivibrator, Give its waveforms.
6

Udh IRUY IRW & "EAH 9 yhiRerfaes
IS0 & S &1 quia s | g9 aRT faF
Bl g |

OR(37214)

Explain the current -shunt feedback amplifier with
a block diagram and also establish the relationship
of feedback gain.

HRT—3IC Blsd®d THUATBIRIR &I 9ufd sdlld
ARG B T HR dT U Blsdd 19 @
forg ve gwarer werfia & |
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Time : 3Hrs.
Applied Electronics
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg yeal @ SR <, UAS U & 99 634 F 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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@) @ »u Rrex qifers & R=220 KO, () Uh ARG THABRIR & Y.
C=500PF @ dl S8 <l & 3ATgfa g # &
&1 74 1l | (a1 fa=1 smafa ara

(@) At smgfa ara

OR (31141 . .
( ) (%) SWiad & | HIg L) |
Describe the operation of UJT with neat diagram. (iii) A common source amplifier is similar in
configuration to which BJT amplifier ?
Yool e & B BT 9 W@os a7 & | (a) Common base
B | (b) Common collector
(¢) Common emitter
(d) Emitter follower
9.  Explain the operation of a class-A push pull
power amplifier with neat diagram. 6 (i) TP AHTI—AIE TUATHRIR, BIT
THABRR & 69 W@ & 99wy
Tl —A YUYl UYTaR TUATBRR & Sl gld ® ?
&1 qui w@=e i & a1 ax | (31) T 4
(3) AT Bl
(&) "= 3fier
OR(3121aT) (@) gfex wratar

(iv)  The voltage gain of a tuned amplifier is.........
Write short notes on any two:- at resonant frequency.

(a) Bootstrap sweep circuit (2) M1n1mum
(b) Maximum

(b) Colpitts oscillator . (c) Half way between Maximum and Minimum
(c) Class -AB power amplifier (d) Zero

(d) Voltage- series feedback in amplifiers.
P.T.O
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Answer all Five Questions.

GROUP -C

5x6=30

gl ufg gzl & SR <o |

7.

In the figure, given below:

Calculate the following:-

(a) Given figure is a class-C amplifier that has an
output power if 11 mw and input power
of 50 pw. What is the power gain.

(b) What is the output power if the output voltage
is 50Vpp? 6

+30v

220 1pH

PF |
10KQ
10KQ

0.1pF EL

i few wv fam &1 F=faRaa sa &,

(31) fear ar fam v 9 —C TruelioRR 8
fora®r 9y wfad 11 mw T T<R®
ofdd 50 pw 2, wfdd 19 @ |

@) afe S@a ey dlecdl &1 919 50 Vpp @,

dl S9® 918d fdd &1 919 fAard |

N4068

(vi)

(vii)

(vii)

(viii)

5 1620405

old B3 UHIBhIAR ¥ UIcH® dlecol
BIedd BT SYAIT BIdT & dl s

() erear @
(\) s @A BIdr @
(%) st Ser

A power amplifier has comparatively ......... B.
(a) Small

(b) Large

(c) Very large

(d) None of the above

(9) sarer
(&) sga sarar
(?) 379 | HIs & |

The maximum collector efficiency of class B
operation is ............

(a) 50%

(b) 90%

(c) 15%

(d) 5%

P.T.O
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OR (3121an)

How does an oscillator differ from an amplifier.
Explain.

U <iferd, TelierR O <1 @9 & ?
quiv & |

Draw the block diagram and circuit diagram of
voltage- shunt feedback. 4

dIeco—3< BIsdd I sdlid IR ¢q
uRuer @ € |

OR (3121a1)

Explain the LC- tank circuit of Hartley oscillator.

gicd <cifera @ LC- 3@ aRuer &1 quf+
BIFSIY |

Draw the block diagram of sine wave oscillator.

State the main requirements of oscillations. 4

S Sifeld &1 sdid NG ©id | glad
ST & A7 I & ? qang |

N4068

(x)

(xi)

(xi)

(xii)

7 1620405

THABRR § HUTHD Bledd

(31) I Y & geTar 2

@) fagfa den eafy a9 <1 gerar 2

(@) afR® sfus=a &1 dgrar & der
q918d sfus= &1 "erdr 2 |

(2) Swiaad & & wH |

A monostable multi vibrator has:-
(a) No stable state

(b) One stable state

(c) Two stable states

(d) None of the above

3 Reafas sgafta & uw
@) ®I$ Ty e T Far 2|
@) o el e sar 21

(@) < wmfl Re sar 21

(]) SWIad ¥ | g 987 €|

Sweep rate is controlled by a ..................
(a) Capacitor

(b) Resistor

(c) Diode

(d) Inductor

P.T.O



O'Ld

| 3% blob b
Rz b IRl 1 Rid & ARIGPhid G—[tb

14
‘uonerado soyrduwe ‘g-

SSB[O JO SOFeIUBAPESIP pue sofejueApe Ay} ure[dxyq

| 3¢ blab 1® khylh @ ER|> Ing] L3Ik

“I0JB[[10S0 d3PLIq UM JO JINOIIO Ay} ure[dxy

(lpE)AO

| iy
Auie blp & RIG & g—[tb lkD V—[tb

v ‘uonerddo

€ -SSB[O PUB Y/ -SSB[O UdIM)q OOUIOYIP Y} ALIA

|2 M0 @ 2K Blh Yai

"SuoIISaN() AL [ Jomsuy

0T=pX¢s

4d4N10YD

S0Y0791 €1

(q) 1ou (&) JoytoN (p)
(q) pue (&) yog (9)
WLI0JOABM JeprosnuIS (q)
WIOJOABM JJo0oIMmeS ()

- 9q M
J0je10Ua3 9seq owny pue dooms jo ndinQo

1@l Bl B b DPRS (2)
@Y 3] (k)

eR|ieyjle (b)

@RIy @i (k)

1@ ERJD

1eAD M®|itb B} kh®Bp

dA0Qqe 2y} Jo duoN (p)

d[qersid (o)

d1qeIsy (q)

91qeISouoA (®)

JIOJR[[10SO

oAeM o1enbs © ST I10JRIQIATI[OLLL *wovree e

@ @ ()

@ speis (2)

B BRYL (b)

@ by (i)

| 2 1Dl k| BISsb |db 3> hipy

890YN 8

(Arx)

(1rrx)

(mx)

(1)

S0v0T91



1620405

12 N4068

(xix) BIeo <Iferd UTd: S¥d¥rel aidl a—

(xx)

(xx)

(@1) fsar RR¥@x 9

@) fsar gr=aiex

(@) drdl. RRyax o

(]) Swiad # 4 fodlt 9 7Y |

The output impedance of an emitter followers
is:-

(a) High

(b) Very High

(c) Almost zero

(d) Low

sfex BIeliaX &1 9189 sfus=a gidr
Bi—

(31) S=a

(a) aga S

) yra: =

(%) f=

N4068

9 1620405

xiv)  REq qAT FHI—d9 SRR P IASTYT

(xv)

(xv)

.................. BT |

(31) R <fa MHfa a3
(@) ~amEs a9

(&) (@) va (@) < @
(€) 7 ar @) ar (@)

For a FET small signal amplifier, one could

go about troubleshooting a circuit by..............

(a) Viewing the circuit board for poor solder
joints

(b) Using a d.c meter

(c) Applying a test a.c signal

(d) All of the above

Ud BIc R FET thuforer—Rk & fou

A fpar w1 Godr 2 |

(31) uRger 9IS @& HHGIR WAles
SAY<H B @D

@) & .M. A H1 gINT IR

(A) o wird . REd &1 93T &)

(?) Swiead & @ 9l & gRT|
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